Model Prediction (G3-12)

G3-12: ['PA', 'Rm'] G3-12: ['CS', 'CD', 'CB'] G3-12: ['Ldem', 'Ndem', 'Rdem’, 'FLdem', 'FRdem']
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G3-12: ['LfN', 'NdN', "TsN', 'tgtLfN', 'prunLfN']
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G3-12: ['LfA", 'peakTgtLAl']
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G3-12 (plot by DAT)
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Days After Budding

G3-12 TsN1 (plot by DAT)
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Days After Budding

G3-12 TsN2 (plot by DAT)
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Days After Budding

G3-12 TsN3 (plot by DAT)
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G3-12 TsN4 (plot by DAT)
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G3-12 TsN5 (plot by DAT)
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Days After Budding

G3-12 TsN6 (plot by DAT)
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G3-12 (plot by adjDAT)

¢
_*ll_
ol 0!
-0
e
-1
1.5 e
Te i1, -
e, Y
e Ty 1 1
A 4.4 I
o'-L¢ 1 -9 _4
I o L --9 -9 -9
T SRS T
_Imv r...* _I. rlﬂ _I4
T2 | I 9 -
T8 Y, e
“ E - Lo T ~®
——e P'? L “ -6 9
.*. | * --9 I |
le e 9 -9 4 “
1 _I. r* _I‘ _‘rllw
L _I. _ul‘ 1 _|‘ 1
‘9 nlb g -o | “
o T, N, tel
R T T T e
rl’ r* _I. 1 I
_|0 I | “ |
e -e e __ |
_ e -e  li---e
_|* _I‘ “ “
-® 9 !
1 —
T
I I
-9 " |
_lﬂ “IIM
TM. _._._ll.mll.o
1 | [0}
............................ -
L_é <
.
I
“ 2
] =
| g
| [ P m
o o o o o o o
(o) LN < m o —

Buippng a1y sAeqg

60 80
Days After Transplant

40

20



Days After Budding

G3-12 TsN1 (plot by adjDAT)
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Days After Budding

G3-12 TsN2 (plot by adjDAT)
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Days After Budding

G3-12 TsN3 (plot by adjDAT)
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Days After Budding

G3-12 TsN4 (plot by adjDAT)
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G3-12 TsN5 (plot by adjDAT)
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Days After Budding

G3-12 TsN6 (plot by adjDAT)
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Plot Env Data

50 100 150 200

450 -

400 -

350 A

300 A

250 A

200 ~

150 A

50 100 150 200

1000 A co2
—— CO2_imp
900 A
800 A
700 A
600 A
500 A
50 100 150 200
I
—— PPFD

600 —— PPFD_imp
500 A
400 - |

]

]
300 A :

I

I
200 A !

0 50 100 150 200



Plot [['sfTemp’, 'sflnit’, 'sfDeV', 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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Plot EnvOpt Decision
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